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QUESTION 1

A company wants to receive rotating items that require inspection. What is the order of tasks necessary to do this? 

A. Receive Rotating Items, Change Inspection Status, Assign Asset number 

B. Change Inspection Status, Receive Rotating Items, Assign Asset number 

C. Change Inspection Status, Assign Asset number, Receive Rotating items 

D. Receive Rotating Items, Assign Asset number, Change Inspection Status 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/SSLKT6_7.6.0.9/com.ibm.mbs.doc/receipts/
t_receive_material_rotate.html 

 

QUESTION 2

A company has a requirement to present an informational dialog box to the user at run time. Which of the following
would be used in the workflow process design? 

A. a wait node 

B. an interaction node 

C. an accept action with a notification 

D. a manual input with a long description 

Correct Answer: D 

 

QUESTION 3

The organizational rules allow for labor hours entered by internal laborers to be automatically approved. An internal
laborer records 44 hours of actual labor when only 4 hours were completed. 

How can this be corrected? 

A. Duplicate the work order and delete the incorrect entry. 

B. This can be edited using the Labor Reporting application. 

C. Record another labor transaction for that laborer subtracting 40 hours (-40) 

D. Record another labor transaction for that laborer subtracting 40 hours (-40) and generate an Invoice. 

Correct Answer: C 
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QUESTION 4

An administrator is setting up security to enforce site specific restrictions. What type of security group does the
administrator need to create? 

A. Maxadmin 

B. Independent 

C. Administrator 

D. Allow restrictions 

Correct Answer: A 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21635810 

 

QUESTION 5

A company has business units that each have different GL account structures from each other. What needs to be
created? 

A. One organization for each business unit. 

B. One organization with a site for each business unit. 

C. One organization with a currency code for each business unit. 

D. One organization with different GL account structure definitions for each business unit. 

Correct Answer: B 
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